
GX200

WWW.RuMoto.Ru - Описание типов, опций, цвета для двигателей Honda GX200 (MTOC Manual Type Option Colour)

Модель
Модифика

ция

Воздушный 

фильтр

Зарядная 

катушка
Тип дросселя

Блок 

управления
Спец. заказ

Комплект 

обтекателя

Электрический 

стартер

Топливный 

фильтр

Маркировка:            

CARB - EPA

Маркировка: 

EN

Зарядная 

катушка на 

лампу

Глушитель
Датчик 

масла
Тип вала Редуктор Примечания Диаметр вала Резьба вала Искрогаситель SUPPLIED LOOSE

Дроссельное 

регулирование
TOOLS ASSY WASHER&BOLT KIT MTO REMARK

Model TypeOption AIRCLEANER CHARGE COIL CHOKE TYPE CONTROL BOX CUSTOMISED DEFLECTOR KIT ELECTRIC STARTER FUEL FILTER LABELING: CARB - EPA LABELING: EN LAMP COIL MUFFLER OIL ALERT PTO KEY TYPE REDUCTION REMARKS SHAFT DIAMETER SHAFT THREAD SPARK ARRESTOR SUPPLIED LOOSE THROTTLE CONTROL TOOLS ASSY WASHER&BOLT KIT MTO REMARK

GX200RT RHG4 DUAL NO LEVER NO YES NO NO NO YES YES NO SILENT NO 7 X 7 X 33 1/2 W/CLUTCH NO FUEL TANK 22 MM INT M8 X 1,25 NO KEY #7X33 REMOTE NO NO CARB 3 not certified, with A/C purge joint

BIZ karts

No fuel tank, harder valve spring, reinforced muffler, recoil at 12 o'clock

GX200RT SWG4 SILENT NO LEVER NO YES NO YES NO YES YES NO NO YES 5 X 5 X 33 NO NO F.TANK ,NO RECOIL START. 20 MM INT M8 X 1,25 NO KEY #5X33 LEVER / REMOTE CABLE TOOL KIT NO CARB 3 not certified, with A/C purge joint

Supplied loose: gasket muffler, 2 nuts

No fuel tank, no recoil, duty start camshaft

WAAIENBERG

GX200T QHB1 OIL BATH NO LEVER NO YES NO NO NO NO YES NO STD NO NOT SUPPLIED NO TILLER SPEC 3/4 INCH INT 5/16-24 UNF NO NOT SUPPLIED LEVER / REMOTE CABLE NO NO BCS,no stopswitch, 3600 -150RPM

GX200T VSP SILENT NO LEVER NO NO NO NO NO NO YES NO STD YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE FIXED NO NO EN type only

GX200T VX SILENT NO LEVER NO NO NO NO NO NO NO NO STD YES NO NO NON EN TYPE TAP 2 1/4"/FT INT 5/16-24 UNF WIRE NET TYPE NONE LEVER TOOL KIT NO

GX200U QXE4 SILENT 1A LEVER YES NO NO YES NO YES YES NO STD YES 4.8 X 4.8 X 38 NO (none) 3/4 INCH INT 5/16-24 UNF YES KEY #4,8X38 LEVER / REMOTE ROD NO NO

GX200U VS17 LOW MOUNT NO LEVER NO NO NO NO NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES MUFFLER FIXED NO YES Low noise engine: plastic gear

Supplied loose: muffler, exh gasket,spark arrester

GX200UT LX2 SILENT NO LEVER NO NO NO NO NO YES YES NO STD YES 5 X 5 X 33 1/2 (none) 20 MM INT M8 X 1,25 YES KEY #5X33 LEVER / REMOTE ROD NO NO

GX200UT LX4 SILENT NO LEVER NO NO NO NO NO YES YES NO STD YES 5 X 5 X 33 1/2 (none) 20 MM INT M8 X 1,25 YES KEY #5X33 LEVER / REMOTE ROD NO NO

GX200UT QH4 CYCLONE 7A REMOTE YES YES NO YES NO YES YES NO STD YES 4.8 X 4.8 X 38 NO (none) 3/4 INCH INT 5/16-24 UNF WIRE NET TYPE WASHER&BOLT, KEY#4.8X38 LEVER / REMOTE ROD NO YES HAKO

Supplied loose: reg/rect, wire harness

GX200UT QHQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO STD NO NOT SUPPLIED NO (none) 3/4 INCH INT 5/16-24 UNF WIRE NET TYPE NONE LEVER / REMOTE ROD NO NO

GX200UT QMP4 OIL BATH NO LEVER NO YES NO NO NO YES YES NO STD NO 4.8 X 4.8 X 38 NO NO ENG SWITCH 3/4 INCH INT 5/16-24 UNF WIRE NET TYPE KEY #4,8X38 LEVER / REMOTE CABLE NO NO BCS Tiller

GX200UT QX4 SILENT NO LEVER NO NO NO NO NO YES YES NO STD YES 4.8 X 4.8 X 38 NO (none) 3/4 INCH INT 5/16-24 UNF YES KEY #4,8X38 LEVER / REMOTE ROD NO NO

GX200UT QX7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 4.8 X 4.8 X 38 NO (none) 3/4 INCH INT 5/16-24 UNF YES KEY #4.8X38 LEVER / REMOTE ROD NO NO Low noise engine: plastic gear

GX200UT QX9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 4.8 X 4.8 X 38 NO (none) 3/4 INCH INT 5/16-24 UNF YES KEY #4.8X38 LEVER / REMOTE ROD NO NO Low noise engine stage 2: Al. push rod, low noise fan cover

GX200UT QXB2 SILENT NO LEVER NO YES NO NO NO YES YES NO STD NO 4.8 X 4.8 X 38 NO NO ENG SWITCH 3/4 INCH INT 5/16-24 UNF YES KEY # 4.8 X 38 LEVER / REMOTE ROD NO NO

GX200UT QXE5 SILENT 7A LEVER YES NO NO YES NO YES YES NO STD YES 4.8 X 4.8 X 38 NO (none) 3/4 INCH INT 5/16-24 UNF YES KEY # 4.8 X 38 LEVER / REMOTE ROD NO NO

GX200UT RHQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO STD NO 7 X 7 X 33 1/2 W/CLUTCH (none) 22 MM INT M8 X 1,25 YES KEY # 7X33 LEVER / REMOTE ROD NO NO

GX200UT RX4 SILENT NO LEVER NO NO NO NO NO YES YES NO STD YES 7 X 7 X 33 1/2 W/CLUTCH (none) 22 MM INT M8 X 1,25 WIRE NET TYPE KEY # 7X33 LEVER / REMOTE ROD NO NO

GX200UT SHQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO STD NO 5 X 5 X 33 NO (none) 20 MM INT M8 X 1,25 WIRE NET TYPE KEY #5X33 LEVER / REMOTE ROD NO NO

GX200UT SM12 SILENT NO LEVER NO NO YES NO IN TANK YES YES NO STD YES 5 X 5 X 33 NO (none) 20 MM INT M8 X 1,25 YES WRENCH, KEY #5X33 LEVER / REMOTE CABLE WRENCH SPARK PLUG YES Supplied loose: 2 stud bolts, 3 washers, 1 tube, 2clips

METSO

GX200UT SMC4 SILENT NO LEVER NO NO NO NO NO YES YES 12V-25W STD YES 5 X 5 X 33 NO (none) 20 MM INT M8 X 1,25 WIRE NET TYPE WRENCH, KEY #5X33 LEVER / REMOTE ROD WRENCH SPARK PLUG NO

GX200UT SX4 SILENT NO LEVER NO NO NO NO NO YES YES NO STD YES 5 X 5 X 33 NO (none) 20 MM INT M8 X 1,25 WIRE NET TYPE KEY #5X33 LEVER / REMOTE ROD NO NO

GX200UT SX7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 5 X 5 X 33 NO (none) 20 MM INT M8 X 1,25 WIRE NET TYPE KEY #5X33 LEVER / REMOTE ROD NO NO Low noise engine: plastic gear

GX200UT SX9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 5 X 5 X 33 NO (none) 20 MM INT M8 X 1,25 WIRE NET TYPE KEY #5X33 LEVER / REMOTE ROD NO NO Low noise engine stage 2: Al. push rod, low noise fan cover

GX200UT SXE5 SILENT 7A LEVER YES NO NO YES NO YES YES NO STD YES 5 X 5 X 33 NO (none) 20 MM INT M8 X 1,25 YES KEY #5X33 LEVER / REMOTE ROD NO NO

GX200UT VGS5 SILENT NO LEVER NO YES NO NO NO YES YES NO SILENT YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES GOVERNOR SPRING 50HZ FIXED NO NO 60Hz spring installed,

50Hz spring loose part,

MOSA, GENSET

GX200UT VPM4 LOW MOUNT NO LEVER NO YES NO NO NO YES YES NO NO YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES SPARK ARRESTER FIXED NO NO Supplied loose: exhaust gasket, spark arrester, governor spring

GX200UT VS19 LOW MOUNT NO LEVER NO NO NO NO NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES MUFFLER FIXED NO NO Low noise engine stage 2: Al. push rod, low noise fan cover

Supplied loose: muffler, exhaust gasket, spark arrester

GX200UT VSD9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE FIXED NO NO Low noise engine stage 2: Al. push rod, low noise fan cover


